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Application - Motion 1 a Shought Line
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7. A ball is thrown vertically up in the air and its position relative to the ground after ¢ seconds is given
by the functions h(t) = 100t — 5¢2.
(a) Find the velocity and acceleration functions.
(b) What is the initial velocity?
(c) For how long will the ball rise?
(d) How high will the ball rise?
(e) Describe the motion of the ball at time £ = 5.
(f) Find the time for the ball to reach the ground.
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8. Consider a particle moving in a straight line with displacement given by s(t) = 3" 3t2 + 5t + 4,

where s is measured in metres and # in seconds.

(a
(b
(c
(d

What is the initial velocity of the particle?
What is the velocity and acceleration at £ = 47

Describe the motion of the particle at ¢ = 4.
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